Exercise one
1. False
2. True
3. True
4.False
5.False

Exercise two

1. Arbitrary, which means that there is no natural relationship between the word and the
meaning it carries.

2. Syntagmatic and paradigmatic. The former refers to a relation of combination while
paradigmatic deals with a relation of substitution.

3. Language and culture

4. Immediate constitutent analysis.

Exercise three

1. Classical conditioning, operant conditioning
2. Operant conditioning, classical conditioning
3. Classical conditioning, operant conditioning

4. Operant conditioning , classical conditioning



